

LAST LECTURE
OF
MATH 788F

Final Exam:

Final Exam: Thursday, December 12, 2:00 p.m.

Final Exam: Thursday, December 12, 2:00 p.m.
The Final will be in this room.

Final Exam: Thursday, December 12, 2:00 p.m.
The Final will be in this room.
The Final is optional.

Final Exam: Thursday, December 12, 2:00 p.m.

The Final will be in this room.

The Final is optional.

It can only help your grade.

Final Exam: Thursday, December 12, 2:00 p.m.

The Final will be in this room.

The Final is optional.

It can only help your grade.

Material to Know:

Final Exam: Thursday, December 12, 2:00 p.m.

The Final will be in this room.

The Final is optional.

It can only help your grade.

Material to Know: Same as what you needed to know for the test.

Final Exam: Thursday, December 12, 2:00 p.m.

The Final will be in this room.

The Final is optional.

It can only help your grade.

Material to Know: Same as what you needed to know for the test.

Will I be Around?

Final Exam: Thursday, December 12, 2:00 p.m.

The Final will be in this room.

The Final is optional.

It can only help your grade.

Material to Know: Same as what you needed to know for
the test.

Will I be Around? Can be

Final Exam: Thursday, December 12, 2:00 p.m.

The Final will be in this room.

The Final is optional.

It can only help your grade.

Material to Know: Same as what you needed to know for the test.

Will I be Around? Can be (maybe will be).

Final Exam: Thursday, December 12, 2:00 p.m.

The Final will be in this room.

The Final is optional.

It can only help your grade.

Material to Know: Same as what you needed to know for the test.

Will I be Around? Can be (maybe will be). Please send me email if you would like to get together (or if you have questions).

WHAT WERE WE DISCUSSING BEFORE OUR TEST?

WHAT WERE WE DISCUSSING BEFORE OUR TEST?

Laguerre Polynomials

WHAT WERE WE DISCUSSING BEFORE OUR TEST?

Laguerre Polynomials

REALLY? WHAT ARE THEY?

WHAT WERE WE DISCUSSING BEFORE OUR TEST?

Laguerre Polynomials

REALLY? WHAT ARE THEY?

$$\sum_{j=0}^m \frac{(m + \alpha)(m - 1 + \alpha) \cdots (j + 1 + \alpha)(-x)^j}{(m - j)!j!}$$

$$\sum_{j=0}^m \frac{(m+\alpha)(m-1+\alpha)\cdots(j+1+\alpha)(-x)^j}{(m-j)!j!}$$

$$\sum_{j=0}^m \frac{(m+\alpha)(m-1+\alpha)\cdots(j+1+\alpha)(-x)^j}{(m-j)!j!}$$

We denote this $L_m^{(\alpha)}(x)$.

$$\sum_{j=0}^m \frac{(m+\alpha)(m-1+\alpha)\cdots(j+1+\alpha)(-x)^j}{(m-j)!j!}$$

We denote this $L_m^{(\alpha)}(x)$.

THEOREM 7.7.2. $\forall \alpha \in \mathbb{Q} - \mathbb{Z}^-, \exists$ finitely many $m \in \mathbb{Z}^+$ such that $L_m^{(\alpha)}(x)$ is reducible.

$$\alpha = \frac{u}{v} \notin \mathbb{Z}^-, \quad v > 0, \quad \gcd(u, v) = 1$$

$$\alpha = \frac{u}{v} \notin \mathbb{Z}^-, \quad v > 0, \quad \gcd(u, v) = 1$$

$$b_j = \binom{m}{j} (m + \alpha)(m - 1 + \alpha) \cdots (j + 1 + \alpha)$$

$$\alpha = \frac{u}{v} \notin \mathbb{Z}^-, \quad v > 0, \quad \gcd(u, v) = 1$$

$$\begin{aligned} b_j &= \binom{m}{j} (m + \alpha)(m - 1 + \alpha) \cdots (j + 1 + \alpha) \\ &= \binom{m}{j} \frac{(vm + u)(v(m - 1) + u) \cdots (v(j + 1) + u)}{v^{m-j}} \end{aligned}$$

$$\alpha = \frac{u}{v} \notin \mathbb{Z}^-, \quad v > 0, \quad \gcd(u, v) = 1$$

$$\begin{aligned} b_j &= \binom{m}{j} (m + \alpha)(m - 1 + \alpha) \cdots (j + 1 + \alpha) \\ &= \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}} \end{aligned}$$

$$\text{Let } g(x) = \sum_{j=0}^m b_j x^j \text{ and } f(x) = \sum_{j=0}^m a_j b_j x^j.$$

$$\alpha = \frac{u}{v} \notin \mathbb{Z}^-, \quad v > 0, \quad \gcd(u, v) = 1$$

$$\begin{aligned} b_j &= \binom{m}{j} (m + \alpha)(m - 1 + \alpha) \cdots (j + 1 + \alpha) \\ &= \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}} \end{aligned}$$

Let $g(x) = \sum_{j=0}^m b_j x^j$ and $f(x) = \sum_{j=0}^m a_j b_j x^j$. Then $g(x)$ is monic.

$$\alpha = \frac{u}{v} \notin \mathbb{Z}^-, \quad v > 0, \quad \gcd(u, v) = 1$$

$$\begin{aligned} b_j &= \binom{m}{j} (m + \alpha)(m - 1 + \alpha) \cdots (j + 1 + \alpha) \\ &= \binom{m}{j} \frac{(vm + u)(v(m - 1) + u) \cdots (v(j + 1) + u)}{v^{m-j}} \end{aligned}$$

Let $g(x) = \sum_{j=0}^m b_j x^j$ and $f(x) = \sum_{j=0}^m a_j b_j x^j$. Then $g(x)$ is monic. Assume $f(x)$ has a factor of degree k in $[1, m/2]$.

$$\alpha = \frac{u}{v} \notin \mathbb{Z}^-, \quad v > 0, \quad \gcd(u, v) = 1$$

$$\begin{aligned} b_j &= \binom{m}{j} (m + \alpha)(m - 1 + \alpha) \cdots (j + 1 + \alpha) \\ &= \binom{m}{j} \frac{(vm + u)(v(m - 1) + u) \cdots (v(j + 1) + u)}{v^{m-j}} \end{aligned}$$

Let $g(x) = \sum_{j=0}^m b_j x^j$ and $f(x) = \sum_{j=0}^m a_j b_j x^j$. Then $g(x)$ is monic. Assume $f(x)$ has a factor of degree k in $[1, m/2]$. Use Lemma 2.4.2 to obtain a contradiction.

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

Let $g(x) = \sum_{j=0}^m b_j x^j$ and $f(x) = \sum_{j=0}^m a_j b_j x^j$. Then

$g(x)$ is monic. Assume $f(x)$ has a factor of degree k in $[1, m/2]$. Use Lemma 2.4.2 to obtain a contradiction.

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

Let $g(x) = \sum_{j=0}^m b_j x^j$ and $f(x) = \sum_{j=0}^m a_j b_j x^j$. Then

$g(x)$ is monic. Assume $f(x)$ has a factor of degree k in $[1, m/2]$. Use Lemma 2.4.2 to obtain a contradiction.

We want a prime p that satisfies certain conditions with $g(x)$.

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

Let $g(x) = \sum_{j=0}^m b_j x^j$ and $f(x) = \sum_{j=0}^m a_j b_j x^j$. Then

$g(x)$ is monic. Assume $f(x)$ has a factor of degree k in $[1, m/2]$. Use Lemma 2.4.2 to obtain a contradiction.

We want a prime p that satisfies certain conditions with $g(x)$. One of them is that p does not divide the leading coefficient of $g(x)$.

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

Let $g(x) = \sum_{j=0}^m b_j x^j$ and $f(x) = \sum_{j=0}^m a_j b_j x^j$. Then

$g(x)$ is monic. Assume $f(x)$ has a factor of degree k in $[1, m/2]$. Use Lemma 2.4.2 to obtain a contradiction.

We want a prime p that satisfies certain conditions with $g(x)$. One of them is that p does not divide the leading coefficient of $g(x)$. This is clear.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

CASES:

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

- CASES:
- $k > m / \log^2 m$
 - $k_0 \leq k \leq m / \log^2 m$
 - $2 \leq k < k_0$
 - $k = 1$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

- CASES:**
- $k > m / \log^2 m$
 - $k_0 \leq k \leq m / \log^2 m$
 - $2 \leq k < k_0$
 - $k = 1$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

BASIC IDEA IN EACH CASE:

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

BASIC IDEA IN EACH CASE:

- Want $p \mid (v(m-j)+u)$ for some $j \in \{0, 1, \dots, k-1\}$.

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

BASIC IDEA IN EACH CASE:

- Want $p \mid (v(m-j) + u)$ for some $j \in \{0, 1, \dots, k-1\}$.
- Want $p > v$.

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

BASIC IDEA IN EACH CASE:

- Want $p \mid (v(m-j) + u)$ for some $j \in \{0, 1, \dots, k-1\}$.
- Want $p > v$.
- Then $\nu_p(b_j) \geq 1$ for all $j \in \{0, 1, \dots, m-k\}$.

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

BASIC IDEA IN EACH CASE:

- Want $p \mid (v(m-j) + u)$ for some $j \in \{0, 1, \dots, k-1\}$.
- Want $p > v$.
- Then $\nu_p(b_j) \geq 1$ for all $j \in \{0, 1, \dots, m-k\}$.
- Show slope of right-most edge of N. P. of $g(x)$ is $< \frac{1}{k}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p \text{ prime}$$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\nu(b_0) - \nu(b_j)$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\nu(b_0) - \nu(b_j) \leq \nu((vj+u)(v(j-1)+u) \cdots (v+u))$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\nu(b_0) - \nu(b_j) \leq \nu((vj+u)(v(j-1)+u) \cdots (v+u))$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\nu(b_0) - \nu(b_j) \leq \nu((vj+u)(v(j-1)+u) \cdots (v+u))$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\nu(b_0) - \nu(b_j) \leq \nu((vj+u)(v(j-1)+u) \cdots (v+u))$$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\begin{aligned} \nu(b_0) - \nu(b_j) &\leq \nu((vj + u)(v(j-1) + u) \cdots (v + u)) \\ &\leq \nu((vj + |u|)!) \end{aligned}$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\begin{aligned} \nu(b_0) - \nu(b_j) &\leq \nu((vj+u)(v(j-1)+u) \cdots (v+u)) \\ &\leq \nu((vj+|u|)!) < \frac{vj+|u|}{p-1} \end{aligned}$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\begin{aligned} \nu(b_0) - \nu(b_j) &\leq \nu((vj+u)(v(j-1)+u) \cdots (v+u)) \\ &\leq \nu((vj+|u|)!) < \frac{vj+|u|}{p-1} \end{aligned}$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\begin{aligned} \nu(b_0) - \nu(b_j) &\leq \nu((vj+u)(v(j-1)+u) \cdots (v+u)) \\ &\leq \nu((vj+|u|)!) < \frac{vj+|u|}{(v+|u|)k} \end{aligned}$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\begin{aligned} \nu(b_0) - \nu(b_j) &\leq \nu((vj+u)(v(j-1)+u) \cdots (v+u)) \\ &\leq \nu((vj+|u|)!) < \frac{(v+|u|)j}{(v+|u|)k} \end{aligned}$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\begin{aligned} \nu(b_0) - \nu(b_j) &\leq \nu((vj+u)(v(j-1)+u) \cdots (v+u)) \\ &\leq \nu((vj+|u|)!) < \frac{j}{k} \end{aligned}$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

Slope of right-most edge is $\max_{1 \leq j \leq m} \left\{ \frac{\nu(b_0) - \nu(b_j)}{j} \right\}$.

$$\begin{aligned} \nu(b_0) - \nu(b_j) &\leq \nu((vj+u)(v(j-1)+u) \cdots (v+u)) \\ &\leq \nu((vj+|u|)!) < \frac{j}{k} \end{aligned}$$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

- CASES:
- $k > m / \log^2 m$
 - $k_0 \leq k \leq m / \log^2 m$
 - $2 \leq k < k_0$
 - $k = 1$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES:

- $2 \leq k < k_0$
- $k = 1$

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

- CASES:**
- $2 \leq k < k_0$
 - $k = 1$

BASIC IDEA IN EACH CASE:

- Want $p | (v(m-j) + u)$ for some $j \in \{0, 1, \dots, k-1\}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

- CASES:**
- $2 \leq k < k_0$, $p | (vm+u)(v(m-1)+u)$
 - $k = 1$

BASIC IDEA IN EACH CASE:

- Want $p | (v(m-j)+u)$ for some $j \in \{0, 1, \dots, k-1\}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

- CASES:**
- $2 \leq k < k_0$, $p | (vm+u)(v(m-1)+u)$
 - $k = 1$, $p | (vm+u)$

BASIC IDEA IN EACH CASE:

- Want $p | (v(m-j)+u)$ for some $j \in \{0, 1, \dots, k-1\}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES:

- $2 \leq k < k_0$, $p | (vm+u)(v(m-1)+u)$
- $k = 1$, $p | (vm+u)$

LEMMA 7.7.7. If $a, b, c, d \in \mathbb{Z}$ with $ad - bc \neq 0$, then the largest prime factor of $(am + b)(cm + d)$ tends to infinity with m .

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES:

- $2 \leq k < k_0$, $p | (vm+u)(v(m-1)+u)$
- $k = 1$, $p | (vm+u)$

LEMMA 7.7.7. If $a, b, c, d \in \mathbb{Z}$ with $ad - bc \neq 0$, then the largest prime factor of $(am + b)(cm + d)$ tends to infinity with m .

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p | (vm + u)$

LEMMA 7.7.7. If $a, b, c, d \in \mathbb{Z}$ with $ad - bc \neq 0$, then the largest prime factor of $(am + b)(cm + d)$ tends to infinity with m .

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p | (vm + u)$

LEMMA 7.7.7. If $a, b, c, d \in \mathbb{Z}$ with $ad - bc \neq 0$, then the largest prime factor of $(am + b)(cm + d)$ tends to infinity with m .

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p | m(vm + u)$

LEMMA 7.7.7. If $a, b, c, d \in \mathbb{Z}$ with $ad - bc \neq 0$, then the largest prime factor of $(am + b)(cm + d)$ tends to infinity with m .

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p | m(vm + u)$

$$b_j = \binom{m}{j} \frac{(vm + u)(v(m-1) + u) \cdots (v(j+1) + u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p | m(vm + u)$

BASIC IDEA IN EACH CASE:

- Want $p | (v(m-j) + u)$ for some $j \in \{0, 1, \dots, k-1\}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p|m(vm+u)$

BASIC IDEA IN EACH CASE:

- Want $p|(v(m-j)+u)$ for some $j \in \{0, 1, \dots, k-1\}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p|m(vm+u)$

BASIC IDEA IN EACH CASE:

- Want $p|(v(m-j)+u)$ for some $j \in \{0, 1, \dots, k-1\}$.

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p|m(vm+u)$

BASIC IDEA IN CASE $k = 1$:

$$b_j = \binom{m}{j} \frac{(vm+u)(v(m-1)+u) \cdots (v(j+1)+u)}{v^{m-j}}$$

$$g(x) = \sum_{j=0}^m b_j x^j, \quad k \in [1, m/2], \quad p > (v + |u|)k$$

CASES: • $k = 1, p|m(vm+u)$

BASIC IDEA IN CASE $k = 1$:

- Use that if $p|m$ and p is large, then $p|\binom{m}{j}$ for small j and the numerator above for large j .